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UP IN THE AIR

What might happen to Arthur as he rises through
the sky? Start at the bottom and read UP!
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THERMOSPHERE 80-1.000 km

At 2,000°C. temperatures are hotter ‘.

than an oven here. But because the air is T

so thin, Arthur would feel freezing cold.
Northern

lights

MESOSPHERE 50-80 km
* Arthur's balloons would probably
\ have burst by now. The highest a
\ helium balloon has ever reached is
T ° 53 km. It's also -90°C here. That's
colder than the South Polel
eor's
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STRATOSPHERE 12-50 km %

Air pressure would be so low Y

here that Arthur would need a o T

special pressure suit to stop the

fluids in his body from boiling Weather
» balloon

" TROPOSPHERE 0-12 km
The temperature would drop to about
e Q§)  -57°C. Arthur would also need to breathe
through an oxygen mask because oxygen
levels would fall from 21% to 4%.

e T





